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MATHEMATICS TEST
Time—170 minutes
66 Questions
Directions: Each of the questions or incomplete statements below is followed by five suggested answers or compleﬁons..

Tn each case, select the one that is the best of the choices offered and then mark the corresponding space on the answer
sheet. : ' '

Computation and scratchwork may be doné in this examination book.

Note: In this examination:

(1) Alt logaﬁthmé are 1o the base e unless otherwise specified.
(2) Thesetof all x suchthat a < x < b isdenoted by [g, 5].

1. If S isa piane in Buclidean 3-space containing (0, 0, 0), (2,0,0), and (0,0, 1), then § is the

(A) xy-plane

(BY xz-plane

(C) yz-plane

{D) plane .y -z =10

(E) plane x +2y — 2z =10

2. If a, b, and cra.re real numbers, which of the following are necessarily true?
L If a<b and ab #0, then + > 1.
I If @ <b, then ac < bc forall c.
M. If a <b, then a+c¢<b+c foral c.
Iv. If a <5, thf:n —a > —b.

(A) Tonly (B) IandMonly - (C) Iand Wonly (D) IL I and Vonly  (E) LI, 1T, and IV

GO ON TO THE NEXT PAGE.




@A) 0 ® § © 3 @) 1 (B 3
o A x o
4 For x 20, I {x¢-e*)
(A) x€. e* 4 xe—l . ex+l (B) x€. X + xe+1 . exﬁl (C) x€. X (D) xe—l . ex-i-l (E) xe+! . ex—l

5. All functions f defined on the xy-plane such that

of
ox

are given by f(x,y) =
(A 2+ xy + 2+ C
D) x*+2xy +y°+ C

== =2x +y and gf=x+2y

ay

B)x*—xy+y*+C
(EB) x> —2xp +y*+ C

© x*—xy -y +C

12

GO ON TO THE NEXT PAGE.
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6. Which of the following could be the graph of the derivative of the
function whose graph is showa in the figure above?

(A) y . ® ¥ <
B A
A\Tx X: x

D) ¥y By

¥
i

GO ON TO THE NEXT PAGE.




7. Which of the foHowing integrals representé the area of the shaded portion of the rectangle shown in the figure
above?

@ [ & +2 - Ixhax ® [ Oxl+x + D ax © [, &+
® [ ixlax ® [ 2ax
8. ;] n f— i~
Ay, ®) log? (© 1 ©) e ® +o
GO ON TO THE NEXT PAGE.

16 -




© 18

9. k digits are to be chosen at random (with repetitions allowed) from {0, 1,2, 3,4, 5, 6,7, 8, 9. What is the
probability that 0 will not be chosen?

- k k
) 1 ® 15 81 (D) (f—g) | ® (%)

"10. Tn order to send an undetected message to an agent in the field, each letter in the message is replaced by the

number of its position in the alphabet and that number is entered in a matrix M. Thus, for example, “DEAD”

becornes the matrix M = (4 5). In order to further avoid detection, each message with four letters is sent to

1 4
'the agent encoded as MC, where C = G B i) If the agent receives the matrix Gi - g), then the message is
(A) RUSH (B) COME ~ (C) ROME ‘ (D) CALL
(E) not uniquely determined by the information given ' '
11. If sin~lx = %, then the acute angle value of cos™lx is
S A 1!.2 T
(A) 5 (B) 5 © 1~ D) 1-¢ (E) 0
GO ON TO THE NEXT PAGE.
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12. j: S C08 % g —
. N - 2 )
(A) = (B) ex {C) &7 D) 57 ® ™ -1
) ' 3
13, Which of the following is trus of the behavior of f(x) = 25— i as x—27
X2 —
(A) The limit is 0.
. (B) The limit is 1.
(C) The limit is 4.
(D) The graph of the function has a vertical asymptote at 2.
(B) The function has unequal, finite left-hand and right-hand limits.
14 A newscast contained the statement that the total use of electricity in city A had declined in one billing period by

5 percent, while household use had declined by 4 percent and all other uses increased by 25 percent. Which of the
following must be true about the billing period? .

(A) The statement was in error.

(B) The ratio of all other uses to household use was
{C) The ratio of a]I other uses to hbﬁsehold use was % ;
(D) The ratio of all other uses to household use was o

(E) None of the above

S 20

GO ON TO THE NEXT PAGE.




15. If f is a tinear transformation from the plane to the real numbers and if f(1,1) = 1 and f(—1,00=2,
then f(3s 5) = . -

(A) _—6 ®) _57 _ (SN (D) 8 (B) 9

16. Suppose that an arrow is shot from a point p and lands at a point ¢ such that at one and only one point in its
flight is the arrow parallel to the line of sight between p and g. Of the following, which is the best mathematical
model for the phenomenon described above?

(A) A fgnction f differentiable on [a, b] such that there is one and only one point ¢ in [a, 8] with
[re)dx = o —.a) |
(B) A function f whose second derivative is at all points negative such that there is one and only one point ¢

in [a, b] with f(c) = fﬁ(%)___:{;(?)

(C) A function f whose first derivative is at all points positive such that there is one and only one point ¢ 7
in [o, 5] with [ fG) dx = /() (6 ~ @)

(D) A function f continuous on {a, b] such that there is one and only one point ¢ la, 0] with
o ax = o) ¢ = @)

(E) A function f continuous on [a, b] and fla) < d < f(b) such that there is one and only one point ¢
in [a,b] with f(c) =4

GO ON TO THE NEXT PAGE.
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17. Let * be the binary operation on the rational numbers given by a % b =g + b + 2ab. Which of the following
are true? .

I. * is commutative.
II. There is a rational number that is a * -identity.
'III. Every rational number has a * -inverse.

(A) Tonly (B) 1L only (C) Tand II only (D) 1 and IIT only (E) 1, II, and 111

18. A group G in which (ab)? = ¢** forall a, b in G is necessarily i

(A) finite _
®) cyclic | S - =
(C) of order two : B
(D) abclian ;

(E) none of the above

19. If ¢ >0 and f(x) = e* — ex forall real numbers x, then the minimnum value of f is

A) flo) B f(e°) T (© f(%) (D) flog c) (E) nonéxjstent

GO ON TO THE NEXT PAGE.




20. Suppose that f(1 + x) = f(x) for all real x. If f is a polynomial and f(5) = 11, then f (%) is

(a) —11 @0 (cj 11 - D) %
(E) not uniquely determined by the information given
21. Forall x >0, if fQogx)=./x, ﬂle; Fx) _
(&) e% | (B) log./x (©) ev* @) /log x ® Lg?
2. | (j;iny\/l_l_?dx> dy =
* 3 ® 3 ©F ® 1 ® 2
GO ON TO THE NEXT PAGE.

26




23.

S(n) is a statement about positive integers n such that whenever S(k) is true, S(k + 1) mustalso be true.

Furthermore, there exists some positive integer ng such that S(ny) is not true.-Of the following, which is the
strongest conclusion that can be drawn? .

(A) S(np + 1) isnotirue.

(B) S(np— 1) ismot true.

(C) S(n) isnot true forany 7 £ my.
(D) S(n) isnot true forany »n Z Ro.
(E) S() isnot true for any n.

24,

Let f and g be functions defined on the positive integers and refated in the following way:

Lifn=1 ]
| f(n)_{Zf(n—l),ifn#l

and
() = 3g(n + 1), if 'n #3
£ (), if n=3

The value of g(1} is

(A 6 ®9 ©nr ©) 36

(E) not uniquely determined by the information given

Let x and p be positive integers such that 3x + 7y is divisible by 11. Which of the following must also be

25.
divisible by 117
(A) 4x + 6p. (B)yx+y TS5 (C) 9x + 4y D) 4x — 9y @ x+y-—-1
GO ON TO THE NEXT PAGE.
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26. If k is a real number and

fx) = sin%for x #0
k for x=20

apd if the graph of f is not a connected subset of the plane, then the value of £

(A) could be —1

(B) must be 0

(C) must be 1

(D) could be less than 1 and greater than —1
(E) must be less than —1 or greater than 1

27. For what triples of real ﬁumbers (a,b,c)with a # 0 isthe function

x,ifxéi

fined b =
defined by f(x) {ax2+bx+c,ifx>1

differentiable at all real x ?

(A) {{e, | — 2a, a)|a isanonzero real number}
tB) {a, 1 — 2a, c)|a,c arereglnu.mbers and a # 0}
(C) {(a, b, c)la, b, c arereal numbers, a # 0,and a+b +c=1}

o {407).

(E) {a, 1 -~ 2a, 0)|a isanonzero real number}

30

GO ON TO THE NEXT PAGE.




Questions 28-30 are based on the following information.

Tet f bea ﬁmétion such that the graph of f is a semicircle S with end points (2, 0) and (b, 0)

28. \jj Fenydx

: | b} — )
(A f1b) — fla) (B),% (SN a)-E DY (- a)in

29, The graph of » =3 f(x} isa
(A) translation of S "~ (B) sernicircle with radius three times that of S
(D) subset of a parabola (E) subset of a hyperbola

b
30. The improper integral .ja JxY'(x)dx is

(A) necessarily zero

(B) possibly zero but not necessarily

(C) necessarily nonexistent

(D) possibly nonexistent but not necessarily
(E) none of the above '

where a < b.

® - af%

(C) subset of an ellipse

GO ON TO THE NEXT PAGE.
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e—?r _ e—x

N TSx T

@A) —o B) —e" © o @) =™ ® 1

30 The dimension of the subspace spanped by the real vectors

1\ {2\ [0\ [2 1\ fo
1} [2] (2] {ol [-2| o] 4
of (o] lof o 6| {0
of, \o/, \of, \3/, \ 8/ 1o
(A) 2 ®3 . ©4 : ® 5 E) 6

33. The shaded region in the figare above indicates the graph of which of the following?

(A) x* <y and y<JJE (B) x2 <y 0ry<% {©) x*>y and y>%
D) *>y ory>% ' ® x2<yp and xy <1
GO ON TO THE NEXT PAGE.




34. Let the bottom edge of a rectangular mitror on a vertical wall be parallel to and # feet above the level floor. If a
person with eyes £ feet above the floor is standing erect at a distance d feet from the mirror, what is the relation-

ship among #, 4, and ¢ if the person can just see his own feet in the mirror?

2
(A) t=2h and d does not matter. (B) t = 4d and h does not maticr. © B+ & =%

(D)z—k=d ' (E) (t —hY =4d

35. The rank of the matrix - . ]

1 2 3 4.5

6 7 8 9 10

11 12 13 14 15 is
16 17 18 19 20/}
21 22 23 24 25

A) 1 ® 2 © 3 D) 4 . ® s 2

36. The shortest distance from the curve xy = § to the originis

A4 (B) 8 © 16 ®) 2/2 (E) 4/2

GO ON TO THE NEXT PAGE.
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37. What is wrong with the following arg:iment?

Let R be the real numbers.
(1) “Forall x, ye R, f(x) + fy) = fixy)”
‘ is equivalent to
(2) “Porall x, ye R, f(-x) + f(r) = f(— x)y)
. which is eqmvalcnt to
NE) “Forall x, yeR, f(—x), FS0) = f(=2)) = flx{=y) = f(x)/rf( b
-Fromr this for y = "0, we make the conclusion
(4) “Forall xeR, f( —x) = f(x)}"

Since the steps are reversible, any function with property {4) has property (1.
Therefore, for all x, ye R, cos x F cos y = cos(xy).

(A) (2) does not imply (1). (B) (3) does not imply (2. (C) (3) does not imply (4).
(D) (4) does not imply (3). _ {(E) (4)is not true for f = cos. ' '
o . 010
38. If M is the matrix (0 0 1) , then M is
100
- Jotro {001 : 100 000
(A) (o 0 1) (B) (1 0 o) ®) (0 1 0) (D) (0 0 0)
100 01690 ] 0 1 000

(E) none of the above

GO ON TO THE NEXT PAGE.
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| x|

f
0.1 fy =1 7 ¥ 77 then j £ dx s
0, for x =190,

A -2 B0 2 (D)} not defined
(E) none of the above '

40. Let y = f(x) be a solution of the differential equation xdy + (y — xe*)ydx = 0 suchthat y =0 when -
x = 1 What is the value of f(2)? :

@ A ®l 0% D) 2 ® 2

41. Of the following, which best represents a porﬁon of the graph of y = —1; +x — % near (1, 1) ?
e ) .

Ay ® » ©

s 7 i} YA 14 -

ot T
5) ¥ &
1+ ~ 1+ N,
2] 1{ =X ) iA— X
p GO ON TO THE NEXT PAGE.




43 In xyz-Space, the degree measure of the angle between the rays

&) 0° (®) 30° (©) 45° (D) 60° (E) 90°

43. If a polynomial f{x) over the real numbers has the complex numbers 2 + 7 and 1 —1{ as roots, then f{x) -
’ could be ’ e

(A) x*+ 6x3 + 10 @) x*+ 7x* + 10 ' € x*—x*+4x +1
Oy x>+ 5x*+4x +1 ® x*— 6x% + 15x* — 18x + 10 . : ‘

44. Suppose f isareal ftmc'tibn such that f(xg) exists. Which of the following is the value of
fm flxo + B — flxo — B) '
h—0 h '
(A) ¢ (B) 2f"(xo) ©) f'(—x0) D) —f'(x0) (E) —2f"(x0)

v

GO ON TO THE NEXT PAGE.
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ol
45. The radius of convergence of the series Z %F xM i

46.

n=0
1 .
(A) 0 ® 3 €)1 D) e B +x
In the xv-plane, the graph of xlogy = ylogx g -
(A) exapty {B) a single point (C) arayin the open first qﬁadrant
(D) a closed curve (E) the open first quadrant

47.

Suppose that the space S contains exactly eight points. If & is a collection of 250 distinct subsets of §, which of
the following statements must be true? -

(A) S is an clement of &.

(B) NG=S
Ged -

©) NG isa nonempty proper subset of S.
Ged -

(D) .# has a member that contains exactly one element.

(E) The empty set is an element of .&.

GO ON TO THE NEXT PAGE.




48,

Iet ¥ be the set of all real polyz;omials p(x). Let transformations T, S bedefined on V by
T:p(x)—xp(x) and S:p(x)—p'(x) = % p(x), and interpret (ST)(p(x)) as S(T(p(x))-
Which of the following 1s true? : :

(A) ST =0
) ST =T
(C) ST =13
(D) ST — TS is the identity map of V onto itself.
(E) ST + TS is the identity map of ¥ onto itself.

49,

If the finite group G contains a subgroup of order seven but no element (other than the identity) is its own
inverse, then the order of G could be

Ay 27 (B) 28 © 33 (D) 37 (E) 42

In a game two players take turns tossing a fair coin; the winner is the first one to toss a head. The probability that

50.
the player who makes the first toss wins the game is
PPN 1 1 ' 2 : '3
Az (B) 3 © 3 . D3 ® 3
51. Let xq =1 and xp41=+/3 F 2x;., for. all positive integers 7. If it is assumed that {x} converges, then
Hm xn =
H—=0 .
Ay -1 (B) 0 © /5 ‘ ®) e | ®) 3
GO ON TO THE NEXT PAGE.

46




52. Which of the following is the larger of the eigeﬁvalues (characteristic vaiues) of the matrix G }5) ?

A) 4 B 5 ©6 ' (D) 10 - ®n

53. Let ¥ be the vector space, under the usual operations, of real polynomials that are of degree at most 3. Let W be
the subspace of all polynomials p(x) n ¥ such that p(0) = p(1) = p(—1) = 0. Then dim V + dim W is

@A) 4 ®) 5 © 6 D) 7 ® 8

54, The map x — axa® of a group G into itself is a homomorphism if and only if

(A) G is abelian (B) G = {e} Ca=ce D) a*>=a (E) & =e¢

55. Let flx,y) =x + y* + 3xy foralireal x and y. Then thers exist distinct points P and Q@ such that
f hasa

(A) local magimum at P and at ¢

(B) saddle pointat P andat Q

(C) local maximum at P and a saddle point at @
(D) local minimum at P and a saddle point at ¢
(E) local minimum at P and at Q°

GO ON TO THE NEXT PAGE.
/

43




36.

The polynomial p(x) =1+ %(x -1 - %(x — 1) isused to approximate -./1.01. Which of the following

most closely approximates the error / 1.01 — p(1.01)?

(A) (1—16—) X 106 ®) (%) x 1078 - © (38-) x 10710

) —(%) x 10710 (B) _(1_16) x 10.76

57.

Acceptable input for a certain pocket calculator is a finite sequence of characters each of which is either a digit or a
sign. The first character must be a digit, the last character must be a digit, and any character that is a sign must be
followed by a digit. There are 10 possible digits and 4 possible signs. If Ng denotes the number of such acceptable
sequences having length k, then Nj is given recursively by

(A) ¥, = 10 | (B) Ny = 10 © Ny, =10
N = 10Nk : Ni = 14Np_1. N =100
Np = 10Ng—i + 40N
D) Ny =10 (E) Ny = 14 '
N, = 140 Ny = 196
Ny = 14Nj_, + 40Ng—> Np = 10Np.; + 14Nk,

GO ON TO THE NEXT PAGE.




58.

If f(z) is an analytic function that mapé the entire finite complex plane into the real axis, then the imaginary axis
must be mapped onto . , .

(A) the entire real axis

(B) apomt"*

(C) aray :
(D) an open finite interval
(E) the empty set

59.

5t
If f is the function whose graph is indiéated in the figure above, then the Jeast upper bound (supremum) of

n
{Z o) — fop [0 = 3 < %1 < +-- < ot < % = 12}
k=1

appears to be

(A) 2  o®7 © 12 D) 16 ® 21

60.

A fair die is tossed 360 times. The probability +that a six comes up on 70 or more of the tosses is

" (A) greater than 0.50

(B) between 0.16 and 0.50
(C) between 0.02 and 0.16

. (D) between 0.01 and 0.02

(B) less than 0.01

52

GO ON TO THE NEXT PAGE.



61. Let 1 # 4 # —I, where [ is the identitymatﬁx and A4 isateal 2 x 2 matrix. If A4 = A~ then the trace

Df_A is
(A) 2 @1 o D -1 B —2
¥
1
0,1 . 1, n
Y S X

- -
0 1,0
62. If B is the boundary of S as indicated in the figure above, then | @ydx + 4xdy) =
B

(A) 0 B 1 © 3 o4+ - ® 7

. w
63. Let F be a continuous, strictly decreasing, real-vatued function such that j: f(x) dx is finite and o)y = 1.

w .
In terms of /™! (the inverse funCtion of ), _{:' f(x)dx is

(A) less than fm ! (y) dy (B) greater than j: Fl)dy (C) equal to I:w () dy
©) equalto f £ () d ®) oqualto | /7' 0y
GO ON TO THE NEXT PAGE.



64. Let S be a compact topological space, let T bea topological space, and let f be a function from § onto T. Of
the following conditions on £, which is the weakest condition sufficient to ensure the compactness of 7'?

(A) f is a homeomorphism.
(B) f iscontinuousand 1 — 1.
(C) f is continuous

@) fis 1-1.

(B) f is bounded.

65. Which of the following indicates the graphs of two functions that satisfy the differential equation

2
(ﬂ) +2yﬁ+y2=0?

dx dx
7] y (B) y (© y
L - b
\ ' 1 / \
: \—} x / ——X \ : :\r x

P A N
(D) y € . ¥
'y 1

;) i X O__ i -X
GO ON TO THE NEXT PAGE.
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66. Which of the following subsets are subrings of the ring of real numbers?
I. {g + b/2{a and b are rational}
. {3% I'n is an integer and m is a non-negative integer}

QL fg + b/5|a and b arereal numbers and a? + 5% £ 1}
(A) Tonly (B) I and IT only (C) T and I only (D) II and III only (E) I, I, and 1T

JIF YOU FINISH BEFORE TIME IS CALLED, YOU MAY CHECK YOUR WORK ON THIS TEST.




_:_ How TO SCORE YOUR TEST EVALUATING YOUR PERFORMANCE

1—3;— work sheet on page 6 hSFS the correct answers to the Now that you have scored your test, you may wish to see
questions- Columns are provided for you to mark whether how your scores compare with those earned by others who
" you chose the correct (C) answer or an incorrect Y answer took this test. For this purpose, the performance of a sarm-
o each question. Draw a line across any question you omit- ple of the examinees who took the test in December 1986
" {ed because itis not counted in the scoring. At the bottom was analyzed. The sample was selected to represent the
. of each “total” columnn, enter the number correct and the total population of GRE examinees tested between October
** umber incorrect. Then add the two coluin.n totals across to 1983 and September 1986. Interpretive data based on the
- : get the total correct and fotal incorreFt. Divide the total scores earned by these exarninees are to be used by admis-
¥ incorrect by 4 and subtract the resulting number from the " sions officers in 1987-88. By comparing your performance
#  iotal correct. This is the adjustment made for guessing. on this practice test with the performance of the analysis
" Then round the result to the nearest whole number. This _Wﬂl sample, you will be able to determine your strengths and
. give you your Faw total score. Use the total score conversion weaknesses and can then plan a program of study to pre-
]  table below to find the scaled total score that corresponds to pare yourself for taking the Mathematics Test under stan-
& yourraw total score. dard conditions.
i Example: Suppose you chose the correct answers to 40 Two kinds of information are provided. On the work sheet
questions and incorrect answers to 10. Dividing 10 by 4 you used to determine your score is a column labeled
4 yields 2.5. Subtracting 2.5 from 40 equals 37.5, which is “P+ ” The numbers in this column indicate the percent of
" rounded to 38. The raw score of 38 corresponds to a scaled  the examinees in the analysis sample who answered each
score of 780. question correctly. You may use these numbers as a guide
‘ . for evaluating your performance on each test question.
;- Fgg%%i %&ﬁﬁiﬁ;ﬁ?gsﬁigz E;fi“gg 836ETL%‘£LY The other kind of information !)rovided is based on f:he
i total scores earned by the analysis sample. It appears in the
_ ] ‘ TOTAL SCORE conversion table for total scores in a column to the right of
._ Raw Scors  Scaled Score % Raw Score  Scaled Seore % the scaled scores and shows for each total scaled score the
E 50-66 950 95 29 850 a percent of the analysis sample who received lower scores.
59 980 94 28 680 42 For example, in the percent column opposite the scaled
if 58 970 S - 70 40 score 700 is the percent 46. This means that 46 percent of
“ 57 960 92 %6 660 a8 the analysis sample examinees scored lower than 700 on
gg gig 2; zj gg gg this test. Note the percent paired with the total scaled score
& 54 230 a3 24 530 a1 you made on the practice test. That number is a reasonable
1 53 920 87 22 820 29 indication of your rank armong GRE Mathematics Test exam-
f_ 52 910 &6 21 g10 27 inees if you followed the testtaking suggestions in this prac-
1 51 900 85 20 600 25 tice book.
i 50 890 83 19 590 23 It is important to realize that the conditions under which
i 49 880 81 17-18 580 21 you tested yourself were not exactly the same as those you
1 :: :22 gg 12 ggg 12 will encounter at a test center. It is impossible to predict how
| % 850 e 1 550 18 differing test-taking conditions will affect test performance,
%; 44-35 840 75 13 840 15 but this is one factor that may account for differences
43 830 73 12 530 14 between your practice test scores and your actual test
1 42 820 71 11 520 12 sCOres.
41 810 69 10 510 11
' 40 800 67 ] 500 10
e o e o . ADDITIONAL INFORMATION
38 780 83 7 480 7
: a7 770 81 6 470 8 If you have any questions about any of the information in
i % 780 Sl 5 480 5 this book, please write to:
b 35 750 57 4 450 4 :
34 740 55 3 440 3 Graduate Record Examinations Program
33 730 53 2 430 3 CN 6000
o 0 o ! a2 2 Princeton, NJ 085416000
30 700 45

’F‘erce_nt scoring below the scaled scere based on the performance of 11,962
examiness who took the GRE Subject Test in Mathematics between Cctober 1,
1983, and September 30, 1986.




WORK SHEET for the MATHEMATICS Test, Form GR8767 ONLY
Answer Key and Percentage* of Examinees Answering Each Question Correctly

QUESTION : TOTAL QUESTION TOTAL
Mwemher  Answer | P+ € I Number Answer | P+ [H I

1 8 g2 ' 41 D &7
2 c 72 42 D 33
3 B 84 43 E 49
4 A a9 44 B 57
5 A 89 45 E- 46
8 c 83 | 46 E 42
7 A 81 47 D 48
8 E 76 43 D 67
2] E 84 : 48 [ 41

10 c 79 50 D 40

kAl B 77 51 E | 52

12 B 81 52 c 59

13 D 82 83 B 23

14 A 47 54 E 39

15 E 77 55 G 16

16 B 61 56 A 31

17 c 49 57 c 46

18. D B5 58 B 37

19 D 71 56 o 35

20 C 42 B0 C 23

21 A 64 3] G 37

22 B 54 62 B 33

23 C 56 63 D 40

24 D 80 64 c 39

25 D 53 65 A 48

26 E | 54 &6 B 57

27 A 34 -

28 E 78 - Correct (C)

29 c 56 '

30 A 29 Incorrect (I)

3 "B 55 Total Score

32 B 62 C— U4 =

33 E 41

a4 A 51 Scaled Score (S8) =

a5 B 29 "

36 A 54

37 D 38

a8 A 68

39 B 83
40 c 30
Correct (G)
tncorrect {1} ’ :

*Estimated P+ for the Qroup of examinees who took the GRE Mathematics Test in a recent three-year period.
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